N° 113 "
SERVICE RS g

LSS

sty BULLETIN - e €5

e
e
oo
oo
o
oo
[ 14
o0

o =
=
(Y
5 ... =
2 ),.';, -
Joe Blackwell Susan Molitor H%Schraps James E. Thornton %Alf
Dlrec{ﬂ :irfs Bales & Pﬂ'ts es tockroom Technlcal Sy e,.:vporf Techn ort Doc.
nical Support anager ana&er m-ms ator

We will be shipping kits under Warranty
to Distributors who have received games
with the serial numbers referenced.

TO:  Parts & Service Managers

DATE: December 10, 1999

SUBJ: H-D® Ball Guide Wire Form (OPTO Protect) and
Butyrate -16 (Plastic) Support Plate Kit (SPI N2 500-6408-67)

Tools/ltems Required for Procedures 1 & 2

e Pliers e Hammer e Short Length of 1" X 1" Wood Block (recommended for tapping in Ball Guide) e Soft Cloth
¢ 5/16" Nut Driver e Phillips Screw Driver e Drill e 3/16" Drill Bit » Pencil, Marker or Pen

Kit (SPI N° 500-6408-67) Contents for Procedures 1 & 2

e Two (2) new revised Ball Guides (5/8") with the Flanged Ends, SPI N® 535-5356-19 (for Procedure 1 only) e Support
Plate with Decal, SPI N° 515-8636-67, e #8-32 X 5/16" PPH Mach. Screw, SPI N° 237-5613-00, ¢ #6 X 3/8" HWH Screw,
SPI N2 234-5000-00, ¢ Mini-Jewel Post (Clear), SPI N° 550-5052-01, & this Service Bulletin N2 113 / Instruction Sheet.

Explanation 1:

We have discovered through field testing & operator input, that some early production Harley-Davidson® Pinball Games
have 5/8" Ball Guides that DO NOT have "stamped flange" ends (see, Fig. 1A). Constant pounding from the pinball can
cause the Ball Guides to be hammered into the playfield (see, Fig. 1B & 1C). With the correct flanged ends (see, Fig. 1D)
however, the pinball cannot hammer the Ball Guide through. These Ball Guides are positioned at these locations (see
Fig. 1) to protect the OPTO Switches at the Motorcycle entrance from being hit with the ball.

Your game may already have the correct Ball Guides, please verify by Game Serial Number.

Games affected are within the following Serial Number range: 148598 - 149648.

If your game Serial Number falls between 148598-149648 and the Ball Guides appear to be positioned correctly, it is still
recommended to replace them with the below simple procedure (1).

+ Note: Ball Guide description measurements are based on width from the center point of each side (left to right) not the height (see Fig. 1A).

Solution 1:
Replace Ball Guides.

Procedure 1:

Step 1 Locate the existing two (2) Ball Guides (5/8") protecting the OPTO Switches at the left and right of the entrance to the
Motorcycle (see Fig. 1). Remove these Ball Guides using a Pair of Pliers (use a soft cloth to prevent playfield marring or
scratching).

Step 2 Set the new Ball Guides (with flanges) included in the kit into the existing holes.

Step 3 Use a short length of a 1" X 1" Wood Block and a hammer to TAP the Ball Guide into the playfield. TAP in just enough
to achieve the desired height of 5/8" from the playfield to the top of the Ball Guide (see Fig. 1A). Recheck the
measurement after each tap to ensure the Ball Guide will be set at the right height. The center of the pinball should make
contact evenly of the top of the Ball Guide.

Note: Figures 1, 1A, 1B, 1C & 1D are on the following page for your reference.
¢ 2020 Janice Avenue * Melrose Patk, IL 60160 ¢ Tel 708-345-7700 or Toll-Free (USA/Canada) 1-800-542-5377 ¢ Fax 708-345-7889

Page 1 of 3 Stern™ Pinball, Inc. © 1999 SPI N° 755-6408-67
Technical Service Bulletin N° 113



T
1-1/16"
Height
of Pinball

The 1/8" thickn
of the Wire Form

width determination
of Ball Guide

— Center of Pinball

RS

<
Location of the two Ball

@ Guides protecting the

SN OPTO Switches at the

1/16" possible break-through
is "normal”

1/8" thru 7/16" break-through
is wrong. Reset height with
correct flanged Ball Guides.

e o

o
[
o
)

ﬁ H-D*, Harley-Davidson 'Logo ©® 1999 g

Ball Guides with flanged ends at the correct height of 5/8" from the
playfield bottom to the top of the Ball Guide (1/16" break-thru is "ok").

» 2020 Janice Avenue * Melrose Park, IL 60160 ¢ Tel 708-345-7700 or Toll-Free (USA/Canada) 1-800-542-5377 « Fax 708-345-7889

Page 2 of 3 Stern™ Pinball, Inc. © 1999 SPI N° 755-6408-67
Technical Service Bulletin N° 113



Explanation 2:

[t has also come to our attention that at some locations where game play is extreme, the Butyrate -16 (Plastic) cracks and
breaks at the peninsula over the Right Stand-Up Target in front of the Motorcycle (see Fig. 2). Current production games
include a Support Plate ® under the plastic to prevent possible breakage. Reference all pictorial views below.

Games requiring addition are within the following Serial N® range: 148598 - 150600.

Solution 2:
For games already in the field, this Support Plate @ should be added to the game whether the piece has broken or not.

Procedure 2:
The following procedure is for "above" installation over the Buty. 16 piece whether broken or not. |f desired, installation
"below" can be done (no drilling required) for pieces which have not broke (see the below graphic in the shadowed box).

Step 1 Remove the existing #6 X 3/8" Screw & Mini-Jewel Post (a) from the end of Buty. -16 (peninsula). If the Buty. -16
piece was broken off, or if the Post got damaged, a new #6 X 3/8" Screw & new Mini-Jewel Post (a) is included in the kit.

Step 2 Remove the existing #8-32 Nylon Stop Nut (b) with your 5/16" Nut Driver. Place the new Support Plate with Decal @
on the threaded post (b) and flush the plate along the left side of the Buty. -16 plastic. Mark the top hole (d) with a pencil,
marker or pen. Set the Support Plate with Decal @ temporarily aside.

Step 3 Drill marked spot (e) using your 3/16" Drill Bit (be careful not to let the drill bit hit the playfield). Take the new Plate
With Decal @ and screw in a #8-32 X 5/16" Screw provided at the top through the decal-side (c) . Place Plate @ over the
threaded post (b) & the top screw into the hole just drilled. Reattach the Mini-Jewel Post using the #6 X 3/8" Screw (a).

Note: Use your pliers to hold the Mini-Jewel Post wi ilﬁlscrews/ing in tl,zte F;gls )t( 3/8" Screw through the plate & plastic.
: ew Support Plate

with decal to add
over Buty. -16.

Plastic Piece
(Butyrate) -16
Top View

If attaching the new Support
Plate ® under the plastic, sand-
wich between the plastic & the exist-
ing plate ®. You'll have to remove
the Mini-Jewel Post (a) & the Nylon
Stop Nut (b). Position middle hole in
the new plate over the threaded post
(b). Reinstall the Mini-Jewel Post
through the Plate and Plastic (a) and

Plastic Piece
(Butyrate) -16
Bottom View

#6 X 3/8"
HWH Screw

#8-32 X 5/16"
PPH Screw @
new plate & decal
over Buty. -16
==
._.

#8-32 Nyl ;
Buty, -16 Stop Nyu?n the reinstall the Nylon Stop Nut (b).
e.xisting support plate 3 " Mini-Jewel W
. . under Traffic Signal Post (Clear)
Side View y Exidi
S xisting
» a Support

Plate

Any questions or comments, please contact Technical Support at the below numbers.
e 2020 Janice Avenue ® Melrose Park, IL 60160 ¢ Tel 708-345-7700 or Toll-Free (USA/Canada) 1-800-542-5377 ¢ Fax 708-345-7889

Page 3 of 3 Stern™ Pinball, Inc. © 1999 SPI N° 755-6408-67
Technical Service Bulletin N° 113




